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StEftouE | EmMES 139A1012 Elhiea | /MNIET—TH-1 | Frieth  [ERT/NIET—TH
SERMO TinICHEET S ZERH A
ﬁg TREOBEBOSILEHOKRES TREOHBEEILNOKRES TEFEOBEBOEILHOKRES ITWEOHBSEILADKES
&5 X 4 B | Timho0iERE jmxag—é R 4 TiwmALDKE | FH me%%—é R 4 B | Limhools jjd)ﬁtéfé R 4 LtmAoDLE | B jno)j:éfé
(m) (m) (kN/ i) EEBfE(m) (m) (kN/ ) (m) (m) (kN/ ) (m) (m) (kN/ )
1 100kN/m##8 %% 1.00{ 0.00 ~ 0.93 113.96| 3m%x#B2 5% ol ~ = = —| 100kN/mM%Z#B % % 1.00{ 11.26 ~ 14.80 113.96| 3m%x#B =25 =l ~ - - =
s 1.00{ 093 ~ 8.72 100.00f Z=hkist |0.00 ~ 8.72| 2.02 10.81 s 1.00f 500 ~ 11.26 100.00f Zhkl4t | 5.00 ~ 14.80f 2.02 10.81
9 100kN/m##8 %% 1.00{ 0.00 ~ 3.38 154.35|3m%x# %% 0.00 ~ 1.18 3.55 18.98| 100kN/m#%#B 2% 1.00{ 10.63 ~ 42.53 154.35| 3m%x#% %] 30.00 ~ 42.53| 3.55 18.98
s 1.00{3.38 ~ 11.17 100.00| #+#list | 1.18 ~ 11.17| 3.00 16.05 st 1.00f 5.00 ~ 10.63 100.00f =hkl4t+ | 5.00 ~ 30.00f 3.00 16.05
3 100kN/m##8 %% 1.00{ 0.00 ~ 3.68 159.69|3m%x# %% 0.00 ~ 1.39 3.68 19.71| 100kN/m#%#8 2% 1.00{ 10.53 ~ 4241 159.69| 3m%x#8% 5| 25.00 ~ 42.41| 3.68 19.71
s 1.00| 3.68 ~ 1147 100.00| #Hlist 11.39 ~ 11.47| 3.00 16.05 s 1.00f 5.00 ~ 10.53 100.00f =hkl4t+ | 5.00 ~ 25.00( 3.00 16.05
4 100kN/m##8 %% 1.00{ 0.00 ~ 3.82 162.12| 3m%#% %] 0.00 ~ 1.55| 3.80 20.35| 100kN/m#%#8% % 1.00{ 10.67 ~ 42.14 162.12| 3m%x#8% 5| 25.00 ~ 42.14| 3.80 20.35
s 1.00{ 3.82 ~ 11.60 100.00| #+list | 155 ~ 11.60| 3.00 16.05 s 1.00f 5.00 ~ 10.67 100.00f Zhkl4t+ | 5.00 ~ 25.00( 3.00 16.05
5 100kN/m##8 %% 1.00| 0.00 ~ 3.81 162.06| 3m*#% %] 0.00 ~ 1.55| 3.80 20.36| 100kN/m#%#8% % 1.00{ 10.67 ~ 41.95 162.06| 3m%x#8% 5| 25.00 ~ 41.95| 3.80 20.36
s 1.00 3.81 ~ 11.60 100.00| #+list | 155 ~ 11.60| 3.00 16.05 s 1.00f 5.00 ~ 10.67 100.00f =hkl4t+ | 5.00 ~ 25.00( 3.00 16.05
6 100kN/mM%#BZ 5 -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3ImZFBZ B -~ = = =
s 1.00/0.00 ~ 1.71 24.69| ZhLlst 1000 ~ 1.71| 2.89 15.47 s 1.00f 500 ~ 7.20 24.69 =nLl4t | 5.00 ~ 7.20f 2.89 15.47
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ ImERBAD ~
zh st ~ st ~ st ~ LSt ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ ImERBAD ~
zh st ~ st ~ st ~ ZnLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ ImERBAD ~
zh st ~ st ~ FhLst ~ Zh st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ ImERBAD ~
zh st ~ FhLst ~ FhLst ~ Zh st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ ImERBAD ~
zh st ~ FhLst ~ FhLst ~ Zh st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ ImERBAD ~
zh st ~ FhLst ~ st ~ Zh st ~
100kN/mM%#BZ 5 ~ ImEBAD ~ 100kN/mM%#8% % ~ ImERBAD ~
zh st ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ ImERBAD ~
zh st ~ FhLst ~ st ~ ZnLst ~
100kN/mM%#BZ % ~ ImEBAD ~ 100kN/m%#8% % ~ ImERBAD ~
zh st ~ FhLst ~ FhLst ~ Zh LSt ~ |
=EFR




